ANNUAL EXAMINATION 2/2018

CLASS : VII
= SUBJECT : MATHEMATICS

Time : 3 hrs MM : 80

General,lnstrﬁcfions :

(i)  All questions are compulsory.

(i) Read all questions very carefully.

(iii) Questions 1 to 10 carry 1 mark each.

(iv) Questions 11 to 18 carry 2 marks each.

(v) Questions 19 to 28 carry 3 marks each.

(vi) Questions 29 to 34 carry 4 marks each.

Q1. Write a simple equation for the given statement.

Thrice of a number x subtracted from 15 gives b

Q2. What cross-section do you get when you give a vertical
cut to a number die.

Q3. The lengths of two sides of a triangle are 6cm and 8cm.
Between which two numbers can length of the third side
fall?

Q4. Ifa=0,b=-1; find the value of 2a - 2b.

Q5. By applying ASA congruence rule, it is to be established
that AABC = AQRP and it is given that AC = QP. What
additional information is needed to establish the
congruence?

Q6. ]f the cost of 8 toys is ¥ 240, what will be the cost of each
such toy?

Q7. Find the value of : 3° x 22

Q8. Write the number of vertices and edgdes of a cuboid.

Q9. There are 10 marbles in a box, numbered from 1 to 10.

What is the probability of drawing a marble with
number 3?

(1)



@10. Evaluate : 2" - 3"

Q11. Shoe size of 10 boys are as follows :
5,6.8,7 10,8 9.7. 10, &
Find Lhe range and the mode of above data.

@Q12. In lhe given figurc. measurements of some parts of two
iriangles are indicated. Examine whether the iriangles

are congruent or not. If congruent, write the result in

D

symbolic form.

913. What should he the value of t, if the value of372 +2y-t
equals 15, wheny = 2.
(Q14. Find the value of the unknown xand v in the given figure.
L

Q15. (a) Convert 0.35 to percent.
(b)  Find the ralio ol : 2 days to 20 hours

~ (2)



Q16.

Q17.

Q18,
Q19.

Q20,

Q21.

Qz22.

Q24.

Find the value of the unknown interior angle x in the
given ligure.

r . =

Construct a APQR with PQ = 5.5¢m, QR = 6.0cm and
PR = 5.0cm.

Solve using trial and error method : 3t + 7 = 13

Anvi scored 5 marks less than iwo times of marks scored

by Shreya in a Mathematics test. If Anvi scored 65 marks.
find the marks obtained by Shreya.

The heights (in cm) ol seven players in a group are
188, 175, 180, 164, 183, 180, 170

(@) Find their mean height

(b)  Find the median for the above data

18x3¥%a?

Using laws of exponents, simplify : =

Gxa
From the sum of 5p® + 2pq and 3p® - pq + ¢*, subtract
7p’-5pq-4g"

- Three cubes each with Scm edge are placed side by side,

what would be the dimensions of the resulting fisure?
Also name the figure.

12% children of a class of 25 like getting wet in the rain.
How many children

(a) like getting wet in the rain

(3)



Q25.

Q26.

Qo7.

Q28.

Q2.

(330.

@31,

Q32.

‘(b)  do not like getting wet-in the rain.

In the given figure. AABC ~
is an isosceles triangle and A
AD is the bisector of ZA.

(a) State the three pairs
of equal parts in
triangles ADB and
ADC? b TR

(b) Is AABD = AACD? Give reasoil.

() Is BD = DC? Give reason.

Surbhi borrows a sum of T 1200 at the rate of 5% per
annum. After how many years does she pay back the money
if the interest paid is I 2107

A (ree is broken at a height of 6m from the ground and

its top louches the ground al a distance of 8m from the
base of the tree. Find the original height of the Tree.

Construct a right angled triangle whose hypotenuse is
Sem long and oné of the legs is 3cm long.
golve the glven equations
@ 7m-=-13=- 4
L) 2(-1)+6=102
(a) Express the following as product of powers of its
prime factors
n - 576 () 800
(h) Show the termis and factors by tree diagraims
4xy -8y +2
Construct AABC in which BC = 6.5cm, £B = 45° and
~C = 60°. Also write the steps of construction.
In the given figure, BC L AC and BD L AD
{a) State the three pairs of equal parts in AACB and
ABDA.
(4)



(b) Is AACB = ABDA? Give rcason.
(¢) Is ZCAB = ZDBA? Give reason.
- (d) Is BC = AD? Why or why not.

o
3

(2

D

Q33. (a) Divya buys a scooty lor T 14000 and sells it at a
logs of 15%. How much does she sell it for?
(b) = Find the whole quantity if 15% of it is 600 km.
Q34. Sale of ordinary bulbs and LED bulbs on 5 different days
of a week for a shop is given as follows :

Days Monday | Tuesday | Wednesday | Thursday | Friday
Number of ordinary bulbs 50 67 6 4 60
Number of LED bulbs 10 94 32 & 8

(a) Draw a double bar graph choosing an appropriaie
scale o represent the sale of two types of bulbs in
a weelk.

(h)  “One should use LED bulbs in place ol ordinary
bulbs”. Give one reason (o justily this statement.



ANNUAL EXAMINATION 22018
CLASS:VII
SUBJECT : COMPUTER SCIENCE
Time : 3 hrs MM : 80
Q1. Choose the correct answer and write it in the answer
sheet: (10x1=10)
{a) HTML is an improved version ol

()

[ XML (ii) SML

(i) SGML (iv) SQL

The storage capacity of Google Drive can be increased
from ___
() ©5GBtol0GE (i) 100 GBto30TH
(iii) 10GBto1TH (ivi 5 GDto 100 GB

It identifies a person by retinal scan, finger prints

and voice recognition.

(il Binmeirics (i) Firewall

(iii) Encryption {iv) Decrypfion

The statcment used to draw a straight line between
two points on the screen in Small Basic.

()  Writeline () (ii) Drawline ()
(i) Draw () (iv) Linel()

A computer understands only code.
(i English , (i) French

(iiij Latin . (iv) DBinary

A property and 1ts value is collectively known as

{iy Attribute (ii) Declaration

(iii) Selector [iv] Rule



(j)

The messages sent and recetved on Twitter are kiown
as >

(i) Tweeis (ii) Posis

(iii] Updales {iv] Shares

Which among the following virus is a comhination
ol Bool Seclor and Program File Virus?

(il  Nelwork Virus (i) Multipartite Virus

(i1 Macro Virus (itv) Polymorphic Virus
Which of the [ollowing loops is used when a group
of statements arc to be cxecuted a specific number

of times?

(i) For loop (i) Do While loop
(iii) While loop [iv) None of these
A converts the decimal format into its

binary equivalent.
(i) Calculator (i)  Abacus

(ii1) Cell Phone (iv)  Digital Computer

Answer the following siatements in one word : {10x1=10)

(A1)
(b)

(c)

(d)
{e)

Person who introduced the concept of zero.

The value of xand v coordinates at the rop left corner
of the Graphics Window,

The number of characters upto which a tweet is
restricted.

The full-form of VIRUS.

A piece of ordinary text that has heen spruced up
with special feature of linking to other documents
or web pages.

The base of Binary Number System.

The tiny dots that make up the Graphics Window
area.

(2)



L8,

(h) Name the founder of Twitier.

1) Anonline stranger or i person known to the fargeted

person, who harasses his victim,

) This element splits the line and displays the lext
on a new line,

Explain the following questions briefly . (7x2=14)

{a) Explain the term lovping. Give Two cxamples.

(h)  Whal is Youtube?

()  Explain the paragraph element in HTMI..

() What is the use of STEP statemeni in For loop?

(€  What do you understand by the lerm Phishing?

()  Explain the utility of Google Drive.

(1) Whatis Cyher Crime? Name the catedories into which
it is divided.

Convert 87 into its binary form. (3)

Convert 100110 into its deelmal form. (3)

Explain the following propertics of Graphies Window with

their default values : (2x2=4)
(a) Pencolor (b) Brushcolor
Identify the following types of viruses : (2x1=2)

(a)  Virus associated with application softwares like Word,
Excel and Powerpoint.

(h)  Virus that damages the boot sector of a hard disc
or flappy drive.

Answer (he following guestions : (5x3=18)

(a) Explain number system. Neune its commonly used

types.
(b). " What do you mean by subroutine?

(c) Whatis HTML?



(]  Explain the features provided by Youtube as a video
editor.

(e) Write the rules to convert a decimal number into a
binary number.

()  What is a computer virus? Name its lypes.

Q9. Siya is an aspiring arlist. She wanis o create an account
on a social networking site where she can follow well known
artists and receive their messages. Which social nefworking
site would you suggest her? (1)

010 Arpit's computer has got infected with a virus, which led to
frequent hanging of the system. Which software will you suggest him

to install in order to saiva this problem? (1)
Q11. Write the purpose of the following: (4x1=4)
a) <B» b) <H1>

c) <HR= d) Background Repeat property

Q12. Write programs using Small Basic Looping Statement. (3x2=6)
a) WAP to print even numbers between 2 to 20.
b) WAP to print numbers from 100 to 10 with decrement step of 10.

@13. Write the HTML program code to make the [ollowing
webpagde (4)

Health A [

Exercise

Exercises like walking, cyeling or skipping must
he done regularly to stay [il and healthy.

Nates @
(a) Give Lhe title as shown.

(b) Give the heading "Exercise” in center. underlined
and using heading tag of level 1.

() The sentence should be written in italics.

(4)
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ANNUAL EXAMINATIGN 2/2018
CLASS : VII
SUBJECT : FRENCH

Time : 3 hrs MM : 80

General Instruciions :

i)
(i)
(iti)

(iv)

Al

Read all the questions carefully.
Write in a neat and clear handwriting.
Write the answers in complete seniences.
Number the énswers s given in the guesiion paper.
SECTION-A [COMPREHENSION ECRITE]
Lisez le Lexte et répondez :
Cheére Anne,
Comment vas-tu? Je vais bien. Mes vacances d'été
commencent. Je suis a Paris en vacances. Je séjourne
dans un hotel. Nous nageons tous les matins, Je commence
ma journée avee un café. Iei, les plats soni excellents. Je
mange des crépes el beaucoup de chocolats. Je ne mange
pas d'escargots. Je voyage heaucoup chaque jour, je visite
le musée du Louvre et la tour Eiffel. Je n‘aime pas la
circulation a Paris.
A bientot, avec les photos.
Bisous,
Catherine
Al.1 Répondez aux questions. (2x1=2)
()  Qulest-ce cue Catherine mange a Paris?
(i) Qu'est-ce que Catherine n'aime pas & Paris?
Al1.2 Dites vrai ou faux. (dxl=4)
()  Catherine ne nage pas 4 Paris.
(i)  Elle commence sa journée avec un the.
(iii) Elle voyage beaucoup a Paris.

(iv) Elle déteste les plats parisiens.

(1)



A1.3 Ecrivez deux verhes en ‘er’. (1)
A2. Lisez:

Hier, le 22 septembre. Sarah a eu 9 ans. Nous avons
célébré sa féte d’anniversaire avee beaucoup de joic, Elle
a invite ses amnis chez elle. Maman a préparé un gateau.
Papa a décoré la maison avec des ballons et des rubans.
Su seeur et son frére ont organisé la boum. lls ont envoyé
des cartons d'invitation 4 ses amis. Ses amis ont apporté
des cadeaux. Sarah a mis 9 bougies sur le gatean. Son
ami Heleéne a distribué des chapeaux multicolores aux
amis.
AZ.1 Dites vrai ou faux. (4x1=4)

(i) C'estl'anniversaire d’ Helene.

(il  On a[été l'anniversaire au restaurant.

(iii) Maman a préparé un giteau.

(iv] Sesamis ont organisé la houm.

A2.2 Donnez l'infinitif, [A215=2)
(i) eu = (ii} mis=
(i) organisé = (iv] ioviie=

A2.3 Complétez avec un mot du texte. {dxle=2)
(i) . je suis allé au marché gvec mes

amis. (Hier/Maman)

(i) Pour décorer les cadeaux, Pauline utilise
beaucoup de __(multicolores /ballons)

(ifi) Jai une lettre 4 ma tante. (eu/envoyé)
(iv] Aujourd’hui, nous allons le médecin.
(distribue/invite)
. SECTION-B [EXPRESSION ECRITE]
Bl. Décrivez et dessinez deux fétes francaises. (2x215=5)
B2. Decrivez voire journee. (3)

B3. Nommez et dessinez cing ustensiles. [5)

(2)



B4. RegardezI'i (2+3=5)
& (a) i
(i)  Quel sport font les garcons?
(if)  Aimez-vous ce sport?
. B SION R gl
()  Queregardes—vous dans image?
(i) Comment allez-vous a 'école?
- (iif) Comment allez-vous en France?
SECTION-C [GRAMMAIRE]
Cl. Choisissez et ecrivez la bonne réponse. (10x14=5)
(a) Elleaune voiture. (grande, grands, grand)
(b) Nous aller au cinéma, (voulez. voulons,
vetilent)
[6)="de 00 nager. (sais, savons, saif)
(d Clestun __homme. {vieil, vicux. vieille)
(e} ls des leltres. (regoivent, recevons. recoit)
(i Ele a 6h du matin, (se leve. se léve, me
leve)
(g Ces__[illes sont mes cousines. (jolis, jolies,
jolig) = : £
()  Elle choisit une robe 5 . [bleu, blei_lg__ hleue)

(3)



C2.

(@]
ol

C6.

(B

(i) Je du suere dans le thé. [mets, met,
mettons) 33

(1 Tu la maison? (balaie/balayes/balaies)

Remplacez le présent par I'impératif, (5x1=5)

] Tu finis le devoir.

5
b) Nous nous levons tard.

(
(
(c) Tune te proménes pas dans le jardin.
(d) Vous faiies le travail.

{

e)  Nous choisissons un fruii.

Completez avee l'adjectif démonstratif, (6xla=3)
(cettcetie; ces, “cef)

(a) Tveut chapeaux.

bl Ilachelewetc:s = siylo et 00 S domyne

©) hotel n'est pas trés cher.

(d) Vousaimez chemise ou pantalon?

Mettez les verbes suivants au passé composé. (3x1=3)

(a) Nous ____(boire] du lait.
(b 1 {finir) son devoir.
{c) Elle (parler] a ses amis.

Complétez les phrases suivanies en utilisant.  (6x%=3)
(. en. au, aux)

(a) Jevais Tokvo.

(b) Il habite Etats-Unis.

{c)  Mon oncle travaille Mumbai _ Inde.

(d) Allez-vous _ Grece gu France?

Mettez les phrases 4 la forme interrogative. (3x1=3)

{a) Ils veulent des chocolats. (III)

(b)  Nous allons au cinema. (1)

() Elle prend de la pomme, (II)

Trouvez la question. (2x%1=2)

(a) C'estmon pere.

(4
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(b)  Elleva au ¢inemg.
C8. Retrouvez les phraseg -
~ ) nefCefdes/;jas/sont/géteau:s:.
(b) une/belle/femzrze/ést/Eile.
Corrigez la fayie.
(a)
(b)
Clo. Ch

(a)

(B)  éte, hiver, automne, pagues

SECTIDN—D LA CULTURE ET LA CIVILISATION]
Dites vraj oy faux.

(5x1=5)
() Aneesh Prend un sandwich

B  Le MEtro parisjen n'est pas treg commade.
() Nous devons respecter nos Parents.
(d) L'embléme nation

Ca,

Iy a trois petite chamhres,
Nous mangans de 1 glace,
assez lintrys, (2x1=2)

le frain, le metro, |a Voiture, le valg

D1.

au fromage,

alest 1e drapegu francais.
(8 1l ne fays pas bajr

€ d'ean.
2, Choisissey et ccrivez la honne réponse, (10x15=5)
(@ Le plus élegan( musee de Parig,
M 1 Louvre (i) le muses d'Orsay
(i) Le Centre Pompidon
(b)  Paris 5 arrondissements
i dix

(i) quatre

() vingg

(€ 1 fait gy Dain et des gaiequy I est :

(i) brofesseyr (i) bouianger

(i) cajsajer

(d)  LaSeine estun ;
(i) fleuve

(i) fromage
(i) vin



(¢) Le buste de Marianne symbolise _
(i) républifque (ii) liberié
(iii) fraternité

()  Mme Lavigne fait les courses toujours le :
(i) lundi (ii) dimanche
(iii) samedi

(5) Bon marché estun:
(i) jardin (i) monument
(iii) magasin

(h) Manuel boit :
(i)  unjus de fruits (i) unelimonade
(iii) uncoca

()  Aneesh a eu un examen de !
(ij maths (i) Irancais
(iii) dessin

(). -Aneesh a écrit une letire a ses

(i) parents (i) amis
(iii) grands-parents
D3. *Reliez: (Bx'2=3)
(a] lebus i) lefromage
(b)  le beurre (i) laFrance

(¢)  le bois de Boulogne (ili] la cremerie

(d) Lyon ; liv) laville

(e) lebrie (v) lejardin

(i L'Hexagone (vi) le moyen de transport
D4, Répondez aux questions. (2x1=2)

(al Nommez deux monuments francgals.
()  Quest-ce que Manuel donne au gargon?
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ANNTUAL EXAMINATION 2/2018
CLASS : VII
SUBJECT : SCIENCE
Time : 3 hrs MM : 80
General Instructions :
(il This paper consists of three sections A, B and C.
(i} Marks are indicated against each guestion.
(iii) Draw neat and well labelled diagrams wherever
required.
SECTION-A (PHYSICS)
Ql. Answer in one word or one sentence ; (5x1=0)
(@)  Why is copper used us bottom of cooking uiensils?
(b)  Why do we place room heaters on the floor?

(c) Chahat connecied an electric toaster, an electric
kettle and a microwave oven to a single socket in
her kitchen. After some time, she observed some
sparks in the socket. Identify the cause of these
sparks.

([d)  Name the device used to measure speed of a vehicle.

(e}  In the given figure, the bulb does not glow. Identify
the problem.

2 [+ 2 B3 p—

Switkch Zall-
Q2. Answer brielly : (4x2=8)

(a)  “Iron nails can be converted info temporary magneis”.
Justify with the help of diagram. :

(1)



Give reasons [or the lollowing :
()  CFLsare considered belter than ordinar@Pulhs.

(i)  Solar enoker is painted black.

Observe the given ’] ; CarA

distance-time graph and

answer the following : g

()  Which car is moving 3 CarB
[aster? =

(if)  Identify and define <
the type of maotion 5
ol car A, @) Time i

Twa metallic blocks A and B are kept in contacl
with each other as shown in the given Hgure :

(]  Name the process of heat transfer and define

it. —
(ii)  TIn which direction will
heatl (ransler take S B
place? Give reason. 30°€) 30 c
Q3. Answer the following : : (3x3=9)

(8)

Observe the given diagram and answer the following:

@

4
3F 26 37 I8 ™ ue 4r HE C S

)

(i) Identify the given thermometer.

(i) Label parts marked as (1) and (2).

(i) Write any one precaution that you will consider
while using it.

Ankur is driving a car al a conslant speed of

50 kkm/hr. How much distance will he cover in 15

minutes?

= e



Q4.

Q1.

(2,

()  Aryanobserved thal a [useis actually a wire insulated
by plastic. One day, when due to short circuii (he
fuse wire was burnt, hie replaced it with a nichrome

% wire but his friend Sanchit sugsested him not to
use nichrome wire,
()~ Why nichrome wire cannot be used as a fuse
wire?
() Name a safety device for elecirical appliances
other than fuse.
(iif) Mention the value depicted by Sanchit in the
above situation.
Answer the following : (5)

(a)  Name the breeze in which cold air from land blows
fowards sea. Also. draw its labelled diagram.

(b)  Draw a well labelled diagram of an elaetric bell.
SECTION-B (CHEMISTRY)

Answer in one word or one sentence [5x1=5)

(al  The soil in a field is highly acidic. Name two maierals
which can be added to this soil (o reduce its acidity.

(B)  Calamine solutior Is applied on Lhe skin where an
ant bites. Give reason.

(c)  Whal is the main product obtained from vermi
processing toilet?

(d)  Why should we plant eucalyptus trees all along the
scwage ponds?

(&) X is the process of depositing a layer of zinc on
ron. Identify X',

Answer briefly : (4x2=8)

(a)  When a blue coloured salution reacts with iron, its
colour finally changes to green and a brown deposit
Is formed on iron. Name the green substance and
brown deposit lormed on iron.

(3)



Q3.

(d])

Waste water released by homes, industries, hospitals

and offices is ireated at waste water treatment plant

(WWTP). Identify the devices used in removisy the

following physical impurities from wasie water.

(i)  Light [loatable solids like oil and grease called
scum.

(i)  Large solid impurities (rags. sticks, cans) from
sewage.

Rupali’s shirt has a yellow stain of curry. When

soup is rubbed on the shirt during washing. the

yellow stain turns red.

(i) Name the natural indicalor present In curry
stain,

(i) What is the nature of soap as shown by thc
indicator present in curry stain?

Differentiate between physical and chemical changes

by giving examples.

Answer the following : (3x2=9)

(a)

‘T and ‘@’ are end products of physical treatment

- of waste water. Identify 'P’ and ‘Q". Explain the role

of aerohic and anaerobic bacteria in the biological
treatment of ‘P and 'Q’ in a WWTP.

Observe the given diagram and answer the following
questions:




Q4.

Ql.

()  Identify the substance ‘X and the das 'Y,

€ (i)  When pas ‘Y is passed through lime water, a

new substanece ‘7 is [ormed which makes lime
water milky, What is the chemical name of
i

(€ () Toimprove sanitulion, low cost onsiie sewagde
disposal systems are being encouraged. Cdvé
twa such examples.

(i)  Why should vlls and fats not be released in
the drain? Explain.
Answer the following : (3)

When magnesium is hurned in air, a powdery ash ‘M’ is
lormed. "M’ on dissolving in water forms ‘N°

(a]  What are ‘M’ and ‘N'?
(b)  What is the action of ‘N on litmus paper?
(¢ Write the word equations involved,
SECTION-C (BIOLOGY)
Answer in one word or one sentence - (dx1=4)
(&) Why is humus required for plant growth?
) Define pulse rate.
Write one advantage of vegetaiive propagation,
ln sexual reproduction, a male and a female dameie
fuse lo form ‘P, Identily ‘P'.
Answer briefly : (4x2=8)

(8)  Human circulatory system consists of blood, hlaod
vessels and heart. Write any two [unctions of blogd.,

(b) "X’ and Y" are the male and female reproductive
parts of a flower. Identify X' and 'Y’, What are bisexual
flowers?

(¢)  For a certain soil sample, it took 25 minuies for
250ml of water to percolate. Caleulate the percolation
rate for this soil sample.

(5)



Q3.

Q4.

(d]  Name the upper two chambers ol human hearl, Which
type of blood geis filled in each of thesi;ipper
chambers?

Answer the following : (Bx3=9]

(a)  Define soil and write any two causes of soil erosion.

(b)  Identily the method of asexual reproduction shown
in the given figure. How do structures labellad as
2 help in this method of reproduction?

(c)  Draw a labelled diagram of human exeretory system.
Write the compaosition of human urine.

What would happen if all seeds of a plant were to fall at
the same place and grow? How do planis get benefitted
by seed dispersal? Name the agents of seed dispersal for
the following :

(i) Seeds of drumstick, maple, grasses and aak.

(ii) Seeds of Xanihium and Urena. (5)

(6)
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ANNUAL EXAMINATION 2/2018
== CLASS : VII
SUBJECT : ENGLISH

Time '3 hrs : MM : 80

General Instructions :

th
(ii)
(iii)
(iv)

Ql.

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handiriting.
Write the answers in compleie seniences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)

We all know that there are some hasic resoiirees without which we can't live,
Clean waler and food are necessary for living beings fo live and grow. We also
need a sheller o protect us [rom harsh weather conditions such as snow, rain,
hail storm and sunlight. We also need clothing and good health. If resources
such as food, clothes and shelter are not available to people, life will become a
punishment rather than a pleasure.

Global population has been increasing at a frightening rate. Today, we use more
and more of our natural resources. For centuries now, each generation has been
using natural resources rather carelessly. The governments of various countries
and organisations working to save natural resources have starled spreading
awareness among peaple about it. However, this awareness campaign to conserve
natural resources was also started only recently.

Thankfully, people are slowly becoming aware of the fact that unless these natural
resources are saved, future generations will suller enormously, While we know
that the environment needs to be prolecied and resources need to be looked
after. human beings cannot stop using these resources altogether. We need these
for leading a comfortable life. So, how do we balance the two needs - the need to
save resources and the need to use them? We have to find alternative resources
so that we don't overuse the natural resources.

Forests are our important natural resources, They sustain plant and animal life.
They provide the necessary wood cover for the planet to get sufficient rainfall and
maintain a balance in the environment.

(B-1)



Q.

Trees help in controlling carbon cmissions, They take in carbon dioxide and give
out oxygen. Trees use carbon dioxide for phoiosynthesis. This producm OXygen.
As a free matures, it can take in 48 pounds of carbon dioxide per year and give
out enough oxygen to take care of our needs [or two years. This natural process
helps to clean the air. Trees help in lessening the risk of floods too.

How do we protect foresis? We need to find simpler. safer alternatives to wood.

We need to grow more and more trees. Every tree that s cut needs to be replaced.

The povernment should take up planting of trees as a continuous activity. We
should malke sure thai the trees which are planied are capable of protecting the
coil from floods and rain. Special land should be made available for growing
fodder so that people stop using foresis for grazing. Unlcss we save {rees, we
can't save the future.

(a) Name the resources (hat are essential for sustaining human life. (1)
(h) What would happen if we do not use ihe natural resources wisely? (1)
(c) = Give atleast two reasons why foresis are imporiant io us. (2)

(d) The natural process in which the trees take in carbondioxide and give out

oxygen helps _ . (1)
(@) To protect forests, we need to find , - (1)
()  Find the words from the passage which mean the same as given below :
(2x'a=1)
(i  another choice (ijj food for catile
Read the poem given below and answer the questions that follow : (6)

Imagine, mother, that you are to slay at home

and I am to iravel into strange lands.

Imagine that my boat is ready at the landing fully laden.
Now Lhink well, mother, before you say what I shall
bring for you when I come back.

Mother. do you want heaps and heaps of gold?

There, by the hanks of golden streams.

fields are full of golden harvest.

And in the shade of (fie forest path the golden

champa flowers drop on the ground.

| will gather them all for you in many hundred baskets.
Mother, do you want pearls big as the raindrops of autumn?

(B-2)
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Q4.

Qb.

Q6.

[ shall cross to the pearl island shore,

There in the early morning light, pearls tremble on

the=neadow llowers, pearls drop o e grass ad _

pearls are scattered on the sand in spray by the wild sea waves.

My brother shall have a pair of horses with wings o lly among (he clouds.
For father [ shall bring a magic pen that, witheut

his knowing, will write of itself.

For you, mother, [ must have the casket and

jewel that cost seven kings their kingdoms.

(a) What is the speaker asking his mother (o do? (1)
(h)  Where does the speaker pli,l.gl Lo gel Lhe pearls [rom? (1)
(c) What is the gift that the spcﬁker wants to give his brother? (1)
(d) What is special about the pen the speaker will bring back [or his father? (1)
(e) What will the speaker put in the casket for his mother? (1)
()  Find suitable words from the poem which mean the same as given helow :

(Bx36=1]

()  heavily loaded with something (i) asmall box
SECTION-B (WRITING)

You went for an excursion to National Secience Centre, Pragati Maidan on 10
February 2018 with your class. Write a report for your school magazine including
details of all the activities and fun you had that day. (4)

Compose a story using given clues and give it a suitable title. (4)
a litile pirl — wanted to read and write — poor parents helpless — village school
— far away — asked father to make a ralt with planks of wood — crossed the
river to reach school — she toiled hard — atlended school — revised and studied
sincerely — passed wilh {lying colours — scholarship — pursued higher education
— successiul in life.

Write a letter to your Principal seeking permission to avail the school transport
facilily for a week giving reason for the request. (6)

SECTION-C (GRAMMAR])

Fill in the blanks with suitable adverbs : (43Ve=22)
(a)  Playing music too can damage your eardrum.
(h) Ruskin Bond = writes about life in the countryside.

(B-3)



Q7.

Q8.

Q9.

Q10.

Qll.

Q12

(¢) You must read the passage _ —— before answering {he questions.

(d) Why did you gel up 80 _today? e
Con‘lpl'ete the given gentences using suitable conjunclions : (4x/a=2)
(@) Wewere very tired __— — happy after our visit to the amusement park.
(b) _jtwas windy. they limbed the mouniain.

() it rains on Sunday, | will not be able t© drive.

(d) Luke couldrt appear for exatns ~_hiscar hroke down on the highway-

Fill in the blanks with suitable preposilions : (AxYa=2)

(a) Thisisa comfortable house to live -

(by This material is entirely different {hat.
(@) Youmusl explain the concept the students.

d) He said that he was really pleased my work.

Punctuate {he given senience - (4x'Aa=2)
what are the famous delicacies of gujarat Haryana and Punjab

write whether the anderlined words are phrases or clauses : (4xte=2)
(a) These red roses arc really fresh and beautiful.

(b) The class teacher mformed us that our vacation will begin this weekend.

;_‘_g

(c) Cifizens of this country @€ very honest and responsible.

(@ Rita caiches the last {rain cvery day but yesterday she missed it-

Add suitable question {ags to the given seniences : (Axba=2)
(a The weather is really Lumid and suliry.

(h) The Japanese team had worked really hard.

() Some parents didn't come 0 meet the ieacher.

(@) FEachboy hould be sent for a medical check-up-

Insert suitable articles to complete the given passage | (4xVe=2)
[ am not __European put I have wisited all ~___European countries.
| got my des ree from _ University ol Cambridge. There WeIe two Indian

lecturers who taught me and both lecturers wWere highly {ntellectual

and very populat.

(B-4)



(313. Rewrite the given sentences in the passive voice : (3x1=3)
(4 The editor has sent the report to his boss.
(b) All the news channels are appreciating the prime Minister's new policies.
(¢) They will make all the arrandements for the debate competition.

@14. Rewrite the given seniences in indirect speech (3x1=3)
(a) The poel said, “I have written a new poemnt.”
(b) “Please bring some more rice’, .said_ Mr. Gerald to the waiter.
(c) The stranger said (0 me, “Is your father at home?"

SECTION-D (LITERATURE)
@15. Read the extracts given below and answer the questions that follow :

(A) ‘But, what about the Joy and eagerness of
her grandson preparing for the fair” (3x1=3)

(a) Who does the word ‘grandson’ refer to in the above ling?
(h) Why was the grandson cager and joyful?
(0 Why was the grandmoi.her worried?

(B) “Degan to feel as well he might, (3x1=3)
The keen demands of appetite:
When, looking eagerly around,
He espied [ar off, upon the ground”.

(a) Name the poem and the poet.
(b) Who does the word ‘he’ refer to?
(@) What did he spot on the ground?
Q16. Answer any THREE out of FOUR guestions in 30-40 words each (3x2=6)

{a) What role did Sadig play in getting a reward from Nawab Hasan Al for
opening his own restaurant?

() Though Soapy Was vely confident that Lhere Were many €asy weys of getting
Arrested vel his very [irst plan didn't work out. Why?

[ Inthelesson, “The Model Millionaire’, why was Hughie amazed to see Alan
Trevor's model when he eptered his studio?

(@ Who was the chiel of the good spirits and why did he carry out all the
commands given by Prospero?

(B-5)



Q17.

Q18.

Q19.

Q20.

Q21.

Answer any TWO out of THREE questions in 30-40 words each : (2x2=4)

(a) In the poem, The Nighiingale and the Glow-worm how did the glow-worm
convince the nightingale to spare his life?

(b) Inthe poem, In the Bazaars of Hyderabad' what are the goldsmiths selling
and who are the probable buyers of their arlicles?

() How did the little boy in the poem ‘Somebody’s Mother fecl when he decided
to help the old lady cross the road?

Answer the following questfion in 70-80 words : (1x4=4)

The poern ‘The Selitary Reapet” deals with an incident in the poel's life that leaves
anl everlasting impression on his mind and soul. Discuss the (hemie of this beautiful
poen.

OR

Sarojini Naidu presenis a very lively and cheerful picture of a market place in her
poem ‘In the Bazaars of Hyderabad'. Elaborate.

Answer the following question in 80-100 words (1x5=5)

The word ‘tempest’ means a violent storm and the storm played an important
role in Lhe lesson ‘The Tempest. Elaborate with suitable examples from the story.

OR
You are Phatik. Write a diary entry deseribing your feelings and experience when
you realised that you were an unwelcomed guest at your uncle’s house.
Answer the fallowing question in 50-60 words : ] (1x3=3)

What help did Ben Gunn ask for in return for helping Jim and his companions?
What was Jim's response?

Answer the following question in 80-100 words : (1x5=5)

How did the doctor, the squire and their companions make a safe place to hide
on the island?

OK

Describe Jim's experience when he Ianded on the island.



ANNUAL EXAMINATION /2N
- CLASS : VII
SUBJECT : SOCIAL SCIENCE
Time : 3 hrs MM : BO
General Instructions ;

()  Read all the questions carefully and number the
answers according to the guestions,

(i) Questions carrying 1 mark should be answered
in one sentence.

{iii] Questions carrying 8 marks should be answered
within 60-80 words.

(iv) Questions carrying 5 marks should be answered
within 80-100 words.
(v]  Attach the maps properly to the main sheet.

Q1. Answer the [ollowing questions in one sentence each:
(Bx1=6)
() Name the king who built the Rajarajeshwara
;emplc.
(i) Define the term ginning mill.

(i) Give any two examples of human made
environmendt.

(iv) Who was the founder of (he Hyderabad state?
() Inwhich state Tawa dam is located?

(vi) Name the continent in which the Amazon hasin
is located.

Q2. Whal were the major ideas expressed by Kabir? (3)
B )



Q3.

Q4.
Qs.
Q6.

Q7.
Q8.

Q9.

Q10.

Q11.

Q12

Q13.

Q14.

Brielly discuss the disadvantages of ‘putting-out

system’. ]
How are high tides important? (3)
Write a short note on miniature paintings. (3)

“The Tawa Matsya Sangh helped the fishworkers in
many ways'. Discuss. (3)

The Ganga-Brahmaputra basin is the mosi thickly

populated region in the country. Give reasons. (3)

Why did the conquerors try to control the temple of
‘Jagannatha’ at Puri? (3)
Describe the conditions of employment in the garment
exporling factory. (3)

Define ocean currents and differentiate between its

two types. (1+2=3)

Discuss the beliefs and practices of Nathpanthis,
Siddhas and Yogis. (3
1t is the thin layer of air that surrounds the earth’,
Identily it and writc any two features. C(1+2=3)
Where is Surat located? Why did people from different
places visit Surat? (1+4=5)
(@ List the reasons behind the increasing drop out

rates from schools among girls, children of dalits,

muslims and adivasi communities.

(b) Why was learning the alphabet so important
ta women likke Rama Bai and Rashsundari Devi?
(3+2=5)

(2)



015. (@) ‘The Prairies are known as ‘Granaries of the
) world’. Why?

(b) Explain the elimatic conditions of the Prairies.
(24-3;5)

Q16. Who were the Sikhs? How were the Sikhs organised
in the eighteenth century?” (1+4=5)

@17.(a) Define social advertisements.

(b) Discuss the demerils of advertisements.
(1+4=5)

18. Write a short note on tropical evergreen forests. (5)

Q19. Deseribe briefly the role of the Member of the
Legislative Assembly. (3)

Q20. Attempt the following maps :

(a) On the provided political map of India. name

and mark the [ollowing : (8x1=8)
(i) State associated with Kabir.

(i) Region where the dance torm of Kathakali

developed.
(i) Captal of Vijayanagara empire.

(b)  Onthe provided political map of the world, name
and marlk the following : (B3x1=3)

(i Mountains bound on west ol North
America.

(i) Temperate grasslands of Africa.

(i) World's largest fresh water lake.
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